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NN UGywGnudp 2wth Puw Updbpp hwg, npwd
oy Ohwy. | Gwy | shwynph | dhwdnph | wipnnep
1 2 3 4 5 5 6
1-fl0 hwiply - Niunigswling
1 [ 46-123 [MwwinthwGGbph pwnnid wwwnnthwlwgngny 1004? 0.07820 | 230.022 148.364 11.602
Ubinwnwuwwunk WwwnnithwbGbph nbnwnpnud /pwgynn/ wpwnbpyhp 2
2 | Cnlyw winPhL, uwhuwl) 60 43 huin,4+4 wiywlbuptp il 1.3035 41.984 27.080 35.299
Ubnwnwujjwunt ywwnthwih nbnwnpnud /pwgdnn / wpubplyhp/
Ubnwnwuwwuink wwwnnthwGlbph wbnwnpnud /spwgynn/ 2
4 | Tnyw wpwbnbhn wnn$hy, uwhuwl) 60 68 huw 4+4 wuwbhwpbp i 5.213 26.524 17.108 89.184
5 7-51.  |Ubnwnwwwuwnk wwunnithwlwgngbph wbnwnpncd §? 7.82 1.876 1.210 9.462
6 | Cnijw |Ubnwnuywunt wwuinthwlwgngtiph nbnwnpnud 15 wd w)lneg./ g4 4.60 1.6188 1.044 4.803
7| 15-277-1|Chwbph uwnnid qugh 2wnwpuny pwpbiwywé npwljh 10042 0.0182 619.755 399.742 T.275
8 | 15-568 |Chwbph jnunwlbpynid punbiiwywé npwlh 1004° 0.0182 | 138.198 89.138 1.622
§ | 15613 [UbnwnwlwG gulgbph jninwibpyncd 1000° 0.0782 97.757 63.053 4.931
1-hl hwply <Ynin 0.000 0.000
1| 46-124 |%nGbph pwhnnid 10042 0.01957 | 145.985 94.160 1.843
Ubunwnwuwuint newl nbnwnpnid (wpwbpyhp wpndhi,uwhuwl 2
2 (Coilw anyl) 6000 4+4 wuwbthwpbp /wwwlb 26nn 1,40%0 250/ g 143 52.803 8058 66.651
3 | 15-277-1 [Chwbiph ujwnnid qugh pwnuwfuny pwnbiwwd npwlh 10007 0.0085 619.755 399.742 3.398
4 | 15-568 [Shwbiph jninwibipynid pupbiwdws npwlh 10042 0.0085 138.198 89.138 0.758
1-hl hwply -Uppwigp 0.000 0.000
1] 46-123 |MwunthwiGtiph pwinned wwinnthwhwgngny 1006° | 0.025645 | 230.022 148.364 3.805
UGinwnwuwwuwnt wwinnithwGakph nbnwnpnid /pwgynn/ wpinbplhp 2
2 | Cniyw WPNBhL, uhunwl) 60 05 hutn,4+4 wiywlbihwptp ] 1.28225 41.984 27.080 34.723
Ubnwnwuwwuwnk WwwnthwhGbph wbnwnpnud /spwaynn/ 2
3 | Cnljw wnutnbhn wpndhy, uwhnwl) 80 06 hun,4+4 wpbhwphp ) 1.28225 26.524 17.108 21.937
4 | 15-277-1 |Chiwbiph ujwnnid qugh 2wnuwfuny punbjwdwé npwlh 1000? 0.0036 619.755 399.742 1.439
5 | 15-568 [Chwtinh jnunwbbipyned pwpblwdwd npwlh 10042 0.0036 138.198 89.138 0.321
1-ha hwply -Pacdpniypp ulilnuly 0.000 0.000
1| 46-123 |MwwnihwGGhph pwnnud wwunnthwhwgngny 1000° | 0.041028 | 230.022 148.364 6.087
Ubnwnuwwwunb wwnnithwGlph inbnwnpnud /pwgynn/ wpnbpyhp 2
2 | Tnlyw wnndhy, ughuw) 60 65 huin 4+4 wywlbthuwpbp i 1.%6?6 41.984 27.080 37.034
Ubinwnuwuwy|wuwnk WwwnnthwGGbph nbnwnpnud /spwgynn/ 2
3 | tnijw wnunbplhn wpndhy, uhiwly) 60 08 huw 4+4 il it 27352 26.524 17.108 46.794
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15-277-1 |Ghwbph udwnnud queh pwnwituny pwpbijwyws npwyh 10002 | 0.02013 | 619.755 399.742 8.047
15-568 |Chwbph jninwbtpynid pwpbiwyws npwlh 1000° 0.02013 | 138.198 89.138 1.794
7-51.  |Ubinwnuwwwunt wuwwnnthwlwgngbph ntinunpnud 02 4.1028 1.876 1.210 4,964
oniyw  |Ubnwnwywuint wwnnthwwgngtph wnbnwnpnud /30 ud (w)bnip./ qd 2.73 3.916 2.526 6.895
onijw [8whg 50*50 dd,nwphguw d=1,84d §? 4.1028 0.6315 0.407 1.671
15-613 |Utitnwnwywa gwbgh jninwibpyntd 1005% | 0.041028 | 97.757 63.053 2.587
1-hG huiply - G6p 0.000 0.000
46-124 |TnGkph pwlnnud 10042 0.023 145.985 94.160 2.166
Utitnwnwwjwuwnb npwl nbnwnpnud (wpwnbpyhp wpn$hiuyhnwy 2
Cnthw {0 nuG) 6086 4+4 wwwlbthwpbp /wwwls 2bpwn 1,460,250/ g A 52.803 34.056 8483
15-277-1 |cwtiph udwnnud queh pwnwhuny pwpbijwdwés npwyh 10062 0.0023 619.755 399.742 0.919
15-568 [Chwbph jninwitpynid pwpbjwywsé npwyh 1004? 0.0023 138.198 89.138 0.205
1-ht hwply - N 18 nuuwpuwl 0.000 0.000
46-123 |MwwnthwiGbph pwinnud wwinnthwlwgngny 1004° 0.0638 230.022 148.364 9.466
Uttnwnuwwwuwnk wwanthwGibph nenunpnid /pwgynn/ wpunbipyhp 2
Tnw WL, uwhtwl) 60 85 hutn 4+4 wwwybthupkp G 1.0634 41.984 27.080 28.797
Ubnwnwwwuwnb wwwnnthwlh nbnwnpnid /pwginn/ wpwntplhp
enhw  |wpndhy, uwhuwly) 60 dd huwn 4+4 wwwlbkthwelip + pwpn thwlwd / o 1.0634 47.865 30.873 32.830
/31 AR7+4 0/=23% BART :
Ubnwnwywunb yuwwnnihwiGbph ntinwnpnud /gpwgynn/ 2 ”
G | Bt ibiuly) 60 1 hutn 4+4 wspulibihwpbp § 42532 | 26.524 17.108 72.764
15-277-1 |Chwtiph wdwnnud qugh zwnwiuny pwpbiwyws npwyh 10062 | 0.01530 | 619.755 | 399.742 6.116
15-568 |Chwbph jninwabpynud pwpbpuwyweé npwlh 1004% 0.01530 | 138.198 89.138 1.364
7-51.  |Ubnwnwwwunt wwinnthwGwgngbph wbnwnpnud i 6.38 1.876 1.210 7.721
Snljw |Ubnwnwwjwunt wwnnthwwgngbph nbinwnpnud /30 ud Lwylnip./ qd 4.60 3.916 2.526 11.619
1-h hwnly - N 17 puuwpwl 0.000 0.000
46-123 |Mwwnnthwhbbph pwlnnid wwnnthwbwgngny 1004° 0.06815 | 230.022 148.364 10.111
Utinwnwywunt wwwnnthwih nbnunpnid /pagynn/ wpunbpyhp 2
Cniyw wpndht, uwhtwl) 60 88 huwn,4+4 wwywlbihwpkp d 1.1359 41.984 27.080 30.760
Ubtnwnwuwuwnb wwnnthwih wbnwnpnud /pugdnn/ wpwbpyhp
Cnijw  |ypndhy, uyhunwly) 60 G4 huwn,4+4 wwwlbthwptip + pwnn thwlwl/ §? 1.1359 47.865 30.873 35.069
/31 RR7+4 0/=35 AT
Gnjw Utinwnwywuwnb wwinnthwiGliph nbnwnpnid /spwgynn/ § 4.5433 26.524 17.108 77.727
wpnbpbhp wpndhi, uyhnwy) 60 G4 huwn,4+4 wwwlbthwpbp
15-277-1 |Chiwtiph ujwnnid qugh pwnwfuny pwpbjwws npwyh 10015 0.01575 | 619.755 399.742 6.296
15-568 |Chiwbph jninwabpynud pwpbpwyws npwlyh 10062 0.01575 | 138.198 89.138 1.404
7-51,  |Ubnwnuywunt wwnnthwGwgngbph nbnunpnid §° 6.815 1.876 1.210 8.247
Snjw  |Ubnwnwwywunt wwuonthwGwgnagbiph ntinunpnid /15 ud Lw)Gnep./ qu 4.90 1.6188 1.044 5116
1-htG hwply - N 16 nuuwpwl 0.000 0.000
46-123 |Mwwnthwilbph pwinnud wwnnthwlwgngny 1004% 0.06815 | 230.022 148.364 10.111
Ubinwnwwywuwnt wwinnthwbh nbinwnpnd /pwgdnn/ wpinbpyhp 2
Cniyw wnn$ht, uuhwily) 60 88 hutn 4+4 wuulbthupte g 1.1359 41.984 27.080 30.760
Utinwnwiyjwuinb wwnnthwlh wbnwnpnid /pugdnn/ wpwnbpyhp
Soljw  |wpndhy, uyhnwly) 60 04 huwn 4+4 wwwlbhwptp + pwnn rwlw / h 1.1359 47.865 30.873 35.069
131,667+4,0/=35,667
Ubtnwnwuywuink wwwnnthwGGbph nbnwnpnud /gpugynn/ 2
Tniljw wnutnbhn wndht, uhuwt) 60 35 huwn,4+4 wywlbhupbp i 4.5433 26.524 17.108 T 2T
15-277-1 |Chwbph udwnnud queh wnwiuny pwnbjwdwd npwlh 100 0.01575 | 619.755 399.742 6.296
15-568 |Chwbiph jninwbtpynud pwpbjwywé npwyh 1004° | 0.01575 | 138.198 89.138 1.404
7-51.  |Uinwnuuywunt wwunnthwlwgngbiph nbinunpnud §? 6.815 1.876 1.210 8.246
onyw  |Ubnwnuwwunt wwannthwGwgngtiph wbnwnpnid /150 (w)lnip./ qu 4.90 1.6188 1.044 5.116
1-hl6 hwply - N 15 puuwpwl 0.000 0.000
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wpunbpyhp wpndpl, uwhwnwly) 60 dd huwn,4+4 wywlbhwpbp

46-123 |Mwwnthw@Gtph pwlnnd wwinnthwiwangny 1000 0.06815 | 230.022 148.364 10.111
Ubnwnuuywunb wwunnthwah wnknwnpnid /pugdnn/ wpubplhp 2
2 | Cniyw wypn®hl, ughunsl) 60 8 huwn 4+4 wuwbhwebp b 1.1359 41.984 27.080 30.760
Ubitnwnwuwwunb wwunnthwGh nbnwanntd /pwgdnn/ wpnbpyhn
3 | oniyw  [wpndhy uwhunwly) 60 Gd huwn,4+4 wywlbihwpbp + pwpn thwlwa / e 1.1359 47.865 30.873 35.069
/31.667+4.0/=35.667
Ubnwnwuwuink wwunnthwGeph inbnunpnud /gpwgynn/ 2
4 | tnlw T ) 60-00 huwn,4+4 wuwybthwpbp i 4.5433 26.524 17.108 77.727
5 | 15-277-1 |ctwbiph udwnnud qugh Jwnuwfuny puinbjwyws npwyh 1006 | 0.01575 | 619.755 | 399.742 6.296
6 | 15-568 |ctutinh jnunwibipynud pupbpwywo npwyh 1006° 0.01575 | 138.198 89.138 1.404
7 7-51.  |Ubinwnwuwwunk wuwinnthwhwgngbph ntinwnpnud 3§ 6.815 1.876 1.210 8.246
8 | onjw [Ubnwnuuwunb wwunnthwGwgngbinh wbnunpnd /15 ud (wylneg./ qu 4.90 1.6188 1.044 5.116
1-hli hwply-Shnbudwpf Lwphbbu 0.000 0.000
1 | 46-123 |Mwwnihwootph pwinnid wwwnnthwiwgngny j006% | 0.033785 | 230.022 148.364 5.012
Ubinwnuwuy|wunk wwunnthwGh nbnwnpnud /pwgdnn/ wpukpyhp
2 | onliw |wpndhy, uwhnwy) 60 88 hutn,4+4 wuwwltthwptbp + pwpn thwljw / e 1.1263 47.865 30.873 34.772
Ubinwnuuwwunb wwunnthwabbph inbnwnpnud /gpwaynn/ 2
3 | Cnljw wninbnbhn wndhy, uwhuwdy) 60 55 huwn 4+4 wiwysthwptp bt 2.2522 26.524 17.108 38.531
4 | 15-277-1 [Chuwbph ujunnud qugh wnuwfuny pwpbiwlwo npwyh 10062 | 0.008368 | 619.755 399.742 3.345
5 | 15568 |Chubiph jnunwibipynud pwpbijwywo npwyh 1000 | 0.008368 | 138.198 89.138 0.746
6 7-51.  |Ubnwnwuwwunb wwinnthwGwgngtinh nbnwnpntd §° 3.3785 1.876 1.210 4.088
7 | cnyw  [Ubnwnwuwuint wwinnthwlwgngliph wnbnuwnpntd /15 ud (w)tnip./ qu 2.45 1.6188 1.044 2.558
1-hG Jwply N 12 nwuwnwl 0.000 0.000
1 | 46-123 |MwunnihwGGEph pwlnnud wwinnthwGwagngny| 1000° 0.06815 | 230.022 148.364 10.111
Ubitnwnwwjwunt wwunnthwlh wbnwnpnud /pwgdnn/ wpwbpyhp 5
2 | cnyw wpndht, ughtnuwl) 60 U hutn 4+4 wwwlbthwpbp I 1.1359 41.984 27.080 30.760
Ubinwnwuwwunb wwwnnthwlh nbnwnpnd /pwgdnn/ wpubpyhp
3 CnLL]U..I U4r\f‘33|1L- uwhmwu) 60 Jd hum,4+4 Luuqmubthl,upbp + pwpnn LhLUL]lUCIrI / 02 1.1359 47865 30873 35069
Ubnwnwuwwunk wwwnnthwbGeph wbnunpnud /gpwgdnn/ 5
4 | Tnjw wpabphn wndhy, uwhawy) 60 18 hun,4+4 wujwybthupbp ] 4.5433 26.524 17.108 77 F2T
5 | 15-277-1 |ctwbiph ujwnnus qugh awnwfuny pwpbjwywsé npwbh 10052 | 0.01575 | 619.755 399.742 6.296
g | 15-568 |Ccbuwbiph jnunwlbiplynd pwnbiwywd npwlp 1000° 0.01575 | 138.198 89.138 1.404
7 7-51.  |Utnwnwuywunt wwwnnthwlwgngbinh wnbnwnpnd i 6.815 1.876 1.210 8.246
8 | cnyw |Utnwnuujwunt wuwinnthwGwgngtiph inbnwnnnd /15 ud Lwjbnip./ qd 4.90 1.6188 1.044 5.116
2-np wply N2 nuwuwpwl 0.000 0.000
1 | 46-123 |MwwnnthwaGtph pwbnnud wwinnthwbwgngny j008? | 0.06815 | 230.022 148.364 10.111
Ubitnwnuwuywunk wwwnnthwGh nbnwnpnud /pugynn/ wpuntpyhp 2 5
2 | Cnilyw wpndhL, uyhuwl) 60 4 hutn 4+4 wwybthwpbp i 1.1359 41.984 27.080 30.760
Ubinwnuwuwunk wwuwuinthw0h nbnwnpnd /pwgynn/ wnuntiplhp
3 | oojw |wpndhy, uwhiwl) 60 dd huwn,4+4 wuwwybthwpbp + pwnn thwlwb / 62 11359 47.865 30.873 35.069
/31,667+4,0/=35,667
Ubitnwnuwuj{wunt wwwnnthwhObph nbnunpnud /gpwgynn/ 2 5433 7
4 | Tniw wpwbnlhn wpndhL, uuhinwly) 60 08 huin,4+4 wiywybthwetp § 4.543 26.524 17.108 77.72
5 | 15-277-1 |Ghwbph udwnnud qugh unuwiuny pwpbipwywo npwlh 10082 | 0.01575 | 619.755 399.742 6.296
& | 15-568 |ctiwtiph jnunwttipyntd puwnbwdwé npwyh 1006 | 0.01575 | 138.198 89.138 1.404
7 7-51.  |Ubnwnwuyjjwuwnk wwinnthwbwgngtinh ntnwnpnid 2 6.815 1.876 1.210 8.246
8 | onjw [Ubnwnuwuwunb wwwnnthwGwgngtinh inbiqunpntd /15 ud (wylnep./ qu 4,90 1.6188 1.044 5.116
2-pn wply N 3 nwuwpwl 0.000 0.000
1 | 46-123 |MwwnihwoGtph pwbnnid wwinnthwbuwgngny 10082 | 0.08815 | 230.022 148.364 10.111
Ubnwnwuywuink wwwnnthwGh inbnwnpntd /pwgynn/ wpuntpyhp 2 a5 7
2 | cnljw wpndhL, uyhuly) 60 88 hutn 4+4 wuywlbthwpbp il 1.1359 41.984 27.080 30.760
Ubinwnwujwunb wwwnnthwih nbnwnpnd /pwgynn/ wpwnkpyhp
3 | ooy |wpndht, uyhunwy) 60 Gd huwn,4+4 wwwlbthwptp +pwpn thwlyw/ 62 1.1359 47.865 30.873 35.069
/31,667+4,0/=35,667
4 | en Ubnwnwywunb wwinnthwGbph inbqunpnud /gpwgynn/ e 45433 26.524 17.108 77727
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15-277-1 |Chiwbph udwnnud queh wnwiuny pwpbwyws 1:1nu.|l.1h 1004° 0.01575 | 619.755 399.742 6.296
15-568 |Chwtiph jnuinwibpynud pwpbjwdwéd npwlh 1004% 0.01575 | 138.198 89.138 1.404
7-51.  [Ubnwnwywuwnb wwwnihwlwgngbiph wbnwnpnid §? 6.815 1.876 1.210 8.246
Cnijw  Ubnwnuwuywunt wwwnnithwlwgngbiph nbnwapnud /15 ud (w)bnip./ qd 4.90 1.6188 1.044 5.116
2-pn Jwply N 4 nwuwpwl 0.000 0.000
46-123 |MwwinthwbGbph pwinnud wywnnchwbwgngny 1006° 0.06815 230.022 148.364 10.111
-
Ubinwnuwuwwuwnb ywwnnthwGh wbnwnpnid /pugydnn/ wpnbpyhp 2 11 7
Cnjw B O S S o W b 1359 41.984 27.080 30.760
Ubnwnwuywuwnt wwwnnithwbh wnbnwnpnud /pwgdnn/ wpanbplyhp
Cnijw |wpndhy, uyhwnwl) 60 08 huwn 4+4 wwwytithwpbp + pwpn hwlwi / 6 1.1359 47.865 30.873 36.069
/31,667+4,0/=35,667
Ubunwnuwuywunt wwunnthwbGbph wbnwnpnud /spwgynn/ 2
Oniljw wnwnbpyn wandhy, uwhuwy) 60 d8 huwn,4+4 wWwybhwpbp § 4.5433 26.524 17.108 77.727
15-277-1 |Chwbph udwnnud queh pwnwiuny pwpbipwywé npwlh 1004* 0.01575 | 619.755 399.742 6.296
156-568 |Chiybiph jnunwlbipynud pwpbpwdwé npwyh 1006° 0.01575 138.198 89.138 1.404
7-51.  [Ubnwnuywunt wwnnthwGwgngbph nbnwnpncd i 6.815 1.876 1.210 8.246
Cniljw  Ubnwnwuwjwunt wwnnithwlwgngtph ntnwnpnid /15 ud (w)lnip./ qu 4.90 1.6188 1.044 5.116
2-nn hwply-@nfuinbopbl 0.000 0.000
46-123 |Mwwnthwbbbph pwnnud wwwnnithwlwgngny 1006° | 0.034075 | 230.022 148.364 5.056
Ubnwnwywunt wwinnithwGbbph wbnwnpnud /pwgynn/ wpnbpyhp
Cnijw  wpnPhy, uyhnwly) 60 08 huwn,4+4 wywlbthwptp + pwpn thwlwa / O 1.1359 47.865 30.873 35.069
131,667+4,0/=35,667
Ubinwnwuwwuwnt wywinnthwGGeph wbnunpnud /gpwgynn/ 2
Cniyw wpinbnbhp wpndhi, uwhuwwl) 60 68 huin 4+4 wywlbhwpbp a 2.2716 26.524 17.108 38.862
15-277-1 |Chiwbiph udwnnud queh zwnwhuny pwpbijwwé npwlh 1000° 0.008 619.755 399.742 3.198
15-568 |Thiwbiph jnuinwibpynud pwpbjwyws npwlh 1000° 0.008 138.198 89.138 0.713
7-51.  (Ubinwnwwwunt wwwnnithwlwgngbph wnbnwnpnud 62 3.4075 1.876 1.210 4123
Cnijw |Ubnwnuwuywunt wwnnthwlwgngbiph nbnwnpnud /15 ud (wyGnep./ qu 245 1.6188 1.044 2.558
2-nn hwply -Uhpwlgp--wplibip 0.000 0.000
46-123 |Mwwnnthwhbbph pwinnid wwinnihwbwgngny] 1004° 0.03666 | 230.022 148.364 5.439
Ubinwnwuwunt ywinnthwGGeph wenwnpnud /pugdnn/ wpnbplpp 2
Tniyw b, ughunwl) 80 i huin,4+4 wilibtiipte il 1.2220 41.984 27.080 33.092
Ubinwnwuwuwnt ywinnthwGGeph nbnwnpnud /gpwgynn/ 2
nijw wpinbplihn wondhy, uwhuwl) 60 68 hutn,4+4 wuywlbhwetp d 2.4440 26.524 17.108 41.812
15-277-1 [Cliykiph ujwnnud qugh wnwiuny pwpbjwywé npwlh 10042 0.00825 | 619.755 399.742 3.298
16-568 |Chiwlinh jninwibpynud pwpbiwyws npwlh 1000° | 0.00825 | 138.198 89.138 0.735
15-613 |Ubtnwnwlwh guhgbph jninubbplynid 1004° | 0.03666 | 97.757 63.053 2.312
2-nn hwply -Uphpwlgp--hwpuwiy 0.000 0.000
46-123 |MuwwnthwbGbph pwinnud wwwnnthwbwgngny 10042 0.03955 | 230.022 148.364 5.868
Venwnwywunt wwinnthwlGph nbnwnpnud /pwgydnn/ wpnbpyhp 2
Cniljw wrindhy, uihtnwl) 60 88 hutn, 4+4 wywlbthuiptp a 1.3184 41.984 27.080 35.702
Ubinwnwywunb wwnnthwGGbph nbnwnpnud /spugydnn/
) 2
nilw wpunbplihn wpndht, uhuwl) 60 08 huin,4+4 wWuwlbhuwpte d 2.6361 26.524 17.108 45.098
15-277-1 |Chwbph ujwnnud quph pwnwiuny pwpbiwdwé npwlh 1004* 0.0086 619.755 399.742 3.422
156-568 |Chiwtiph jninuibpynud pwpbpwdwé npwlh 10042 0.0086 138.198 89.138 0.763
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" Cnlyw

Ubnwnwuywunt wwnnthwlwgngtph nknwnpnud /15 ud Lwylnip./

qd 2.46 1.6188 1.044 2.568
2-nn hwply -Uppwlgp--wplidninp 0.000 0.000
1| 46-123 |MwwnihwGibph pwlnnid wwnnthwlwgngny 1008° | 0.034075 | 230.022 148.364 5.056
Ubinwnwuwunt ywnnthwGlbph nbnwnpnud /pugynn/ wpwkplhp 2
2 | Cniyw wnnPhy, ughinwl) 60 86 huw 4+4 wywlbhuptp ] 1.1359 41.984 27.080 30.760
Ubnwnuuwunt wwwnnthwhlbph wbnwnpnud /spwgynn/ 2
3 | Cnljw wnubnbhn wndhl, uwhuwy) 60 88 huwn,4+4 wuwlbthuwpbp ] 2.2716 26.524 17.108 38.863
4 | 15-277-1|Chwtnph ujwnnud qugh zwnwhund’puwpbwdwé npwlh 10002 0.008 619.755 399.742 3.198
5 | 15-568 |Chwbiph jninwlbpynud pwpbjwdwsé npwyh 10062 0.008 138.198 89.138 0.713
6 7-51. [Ubnwnwuwjwunt wwwnnthwiwgngbph wbnwnpnid W 3.4075 1.876 1.210 4,123
7| Cnljw [Ubnwnuwiwunt wwinnthwlwgngbiph wbnwnpnud /15 ud (w)Gnep./ qd 245 1.6188 1.044 2.5568
LGnwdkGp 2374.580
uus 20% 474.916
COnwadkGp 2849.496
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